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SEOREMICEY B3I

SEOREN : fIE2 (ERICIIBER->TEE#A % : £10)
» (AUB)x C={(x,y) | x€e AUB DD ye C} 2DT,
(x,y)e(AUB)x Cexe AUB H®D yeC.
» AUB={x|xecAFkld xe B} 2dDT,

x€EAUB & xcAFEklT xeB.
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SEOREMICEY B3I

SEOREN : fIE2 (ERICIIBR-> TEE#]A S : £iD)
» (AUB) x C={(x,y) | x€e AUB DD ye C} 2DT,
(x,y)e(AUB)x Cexe AUB H®D yeC.
» AUB={x|xeAZXklE xec B} 2DT,
x€AUB & xcAZFklExeB.
» DF Y,

(x,y)€e(AUB)x C & (xeAZFkliEzxeB) 2 yeCl.
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SEOREMICEY B3I

SEDORAFENE : fIB2 (ERICAUER>TESHA S : Hil)

» (AXCO)U(BxC)={(x,y) | (x,y) e Ax C £7IF (x,y) e Bx C}
DT,

(x,y) €(Ax C)U(BxC) & (x,y) e Ax C E2l&E (x,y) € Bx C.
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SEOREMICEY B3I

EEADORAEFN : fIE2 (ERICIER>TEEHA S : Ail)

» (AXCO)U(BxC)={(x,y) | (x,y) e Ax C £7IF (x,y) e Bx C}
DT,

(x,y) €(Ax C)U(BxC) & (x,y) e Ax C E2l&E (x,y) € Bx C.
» AxC={(x,y) | xe ADD ye C} DT,

(x,y) EAxC & xeAbhDyeC.
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SEDORIEMEICEY 2L

EEADORAEFN : fIE2 (ERICIER>TEEHA S : Ail)

» (AXCO)U(BxC)={(x,y) | (x,y) e Ax C £7IF (x,y) e Bx C}
DT,

(x,y) €(Ax C)U(BxC) & (x,y) e Ax C E2l&E (x,y) € Bx C.
» AXxC={(x,y) | x€eADD yec C}BDT,
(x,y) EAxC & xeAbhDyeC.
» Bx C={(x,y) | xe B2 yecC} DT,

(x,y)eEBxC & xeB»2yecC.
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SEDORIEMEICEY 2L

EEADORAEFN : fIE2 (ERICIER>TEEHA S : Ail)

» (AXCO)U(BxC)={(x,y) | (x,y) e Ax C £7IF (x,y) e Bx C}

BOT,

(x,y) €(Ax C)U(BxC) & (x,y) e Ax C E2l&E (x,y) € Bx C.

» AXxC={(x,y) | x€eADD yec C}BDT,
(x,y) EAxC & xeAbhDyeC.
» BxC={(x,y) | xeBH"D yecC}adDT,
(x,y)eEBxC & xeB»2yecC.
» DFWY,

(x,y)e(AxQ)U(BxC) & (xeADDye() Tk
(xeB D yel).
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SEOREMICEY B3I

SEDEFN : HIE 2 (FEBADTK)
(x,y) e (AUB) x C
& (xeAFRlE xeB) D yeC
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SEOREMICEY B3I

SEDEFN : HIE 2 (FEBADTK)
(x,y) e (AUB) x C
& (xe AFlE xeB) D yeC
S (xeADDyeC) Fhld (xeBnD yel) (2 ECERY)

> EREA
(P £721& Q) B R & (P D R) 71 (Q #D R)
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SEOREMICEY B3I

SEDEFN : HIE 2 (FEBADTK)

(x,y) € (AUB) x C
& (xeAFlE xeB) Mo yeC
S (xeADDyel) ¥FlE (xeB "D yel)
& (xy)e(Ax CO)U(Bx C)
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ZDEZEDBIR
» EBRELTOHY, J3a=4—vavelToHE

EBICEATZIABEZELLFEIIENTEZELDICAS
» B

» BES
WREDEZE, TNERVEEAORSEMICEYT 55
» $FIC, DEERIE K - BILA Y OER]
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» BRER, NSREICHRBREEVWTREYT 2
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» E&TOK
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